
Spiel 1 Spiel 2 Gesamt

15:25 B 01 Harucksteiner Thomas 55 + 55 = 110

B 06 Sperl Pierre 45 + 50 = 95

15:32 B 02 Haider Hubert 59 + 56 = 115

B 05 Wruss Harald 44 + 51 = 95

15:38 B 03 Mach Joachim 30 + 48 = 78

B 04 Müller Karl 41 + 45 = 86

15:45 B 06 Sperl Pierre 63 + 57 = 120

B 04 Müller Karl 48 + 50 = 98

15:52 B 05 Wruss Harald 46 + 44 = 90

B 03 Mach Joachim 55 + 45 = 100

15:57 B 01 Harucksteiner Thomas 52 + 49 = 101

B 02 Haider Hubert 61 + 49 = 110

16:02 B 02 Haider Hubert 48 + 47 = 95

B 06 Sperl Pierre 51 + 47 = 98

16:07 B 03 Mach Joachim 40 + 39 = 79

B 01 Harucksteiner Thomas 55 + 53 = 108

16:13 B 04 Müller Karl 45 + 52 = 97

B 05 Wruss Harald 38 + 54 = 92

16:19 B 06 Sperl Pierre 58 + 42 = 100

B 05 Wruss Harald 59 + 47 = 106

16:24 B 01 Harucksteiner Thomas 44 + 65 = 109

B 04 Müller Karl 38 + 44 = 82

16:30 B 02 Haider Hubert 44 + 58 = 102

B 03 Mach Joachim 50 + 42 = 92

16:36 B 03 Mach Joachim 43 + 48 = 91

B 06 Sperl Pierre 49 + 43 = 92

16:42 B 04 Müller Karl 52 + 42 = 94

B 02 Haider Hubert 43 + 48 = 91

16:48 B 05 Wruss Harald 51 + 53 = 104

B 01 Harucksteiner Thomas 51 + 44 = 95


